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W The brilliant red colors seen in fireworks are because of the emission of light with wavelengths
around 650 nm when strontium salts such as Sr(NOs); and SrCO; are heated. Calculate the
frequency of red light of wavelength 6.5x107 m.
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B The blue color in fireworks is often achieved by heating copper(l) chloride (CuCl) to about 1200°
C. Then the compound emits blue light having a wavelength of 450 nm. Whatis the photon
energy that is emitted at 4.5 x 107 nm by CuCI?
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®  Compare the wavelength for an electron (mass = 9.11x 107 kg) traveling at a speed of 1.0 x 107
m/s with that of a baseball (mass = 0.14 kg) traveling 45 m/s (101 mph).
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" g!éyh!e!heienergy required to excite the hydrogen electron fro e

culat gth of light that would be released by a hydrogen af
fell from the excited state to Bround state.
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